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( A )1. Calculate the exact value of (379+379)x5007?

(A) 379000 (B) 397000 (C) 558000 (D) 548000
FRAT + 379X 2X500=379x1000=379000
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( A )2, Ba=+5+8>b=6+7>c=+3x10 BI FHF—RIFIEE @
(A)a<<b<c (B)b<c<a (Cc<a<b (D)a<c<b
BRAT ¢ . a% = (VB ++/8)? =5+ 240 + 8 =13 + 24/40 =13 + /160
b? = (V6 +7) =6 +2/42 +7=13+2/42 =13 +/168
> =(V3x+/10)° =3x10=30=13+17 =13 +/17> =13+ /289
"."/160 </168 <+/289 » ..a’<b*<c®* Xa>0>b>05¢c>0
J.a<b<c  EA)

( C )3 HEEEZHx’ 64“*58'9%/J\1E%%/J)? (A)4 (B)8 (C)16 (D)64

2,2 2 2
BRI - '.‘x2+§B’DEE§/J\1E?%§ » 64" S HSVER64° = (4°) =47 =16
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@) RAAEE 42D CDEG6AD  BEH 5
ENBIEESOTISAD 7
(A)5007z (B)600z (C)800x (D) 10007

@i - BE—EAVEENTE  FTHBESTR—BEE (WTE)

EFAVEEIE =10x10x 7 x10 =10007
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)5. GENEFENMN - JEBZRSTHER » MK S
NED S B o IEEHHIN NGRS S BHISEVEERE SR 73 16
NR - BRIBIGHBILDER ST BIRA 40 AR - BIZGHED
BERMNANR < (A)56 (B)64 (C)80 (D)84
SEEPR=x, ST =PSxSR » 40° =16(x +16)

1600 =16(x+16) * 100=x+16 * x =84
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)6. LIETEHEMEEA(0,8) B(28) EB—HPEy=2NBFL &
SPA=PB * & P ZtifVE2(a,b) » Bl atb="
(A) 2 (B) 3 (C) 4 (D) 5

AB QYD - x:O_;Z » x=1

PEy=2x*BF L ' BPA=PB ’ .".P 7 AB IDER
x=1LA y=2x2 > y=2%x1?=2 = P(1,2) = a=1" b=2

)7. 6B ARATNBEE—BEENNCHEY > |, AN,
BIZA+ 2B+ £C+ 4D+ LE+ ZLF + 4G =7 " B
(A) 720° (B) 540° (C) 360° (D) 1080°
D E

AG~GF~EF “DE~CD BC 4B HN=R

360° x3x%2540°
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KIS W PIEMN S SRDIDAND ©
(A)160 (B)162 (C)164 (D) 166

NEE > REMLLEE AR 3

(152—147) i x=1:3 »x=15

. 147+15=162 7D

147 147 | 147




( A )9 RLER L0ADHMBER=AFD  BESRANEIIFILAD ?
(A) 25 (B) 50 (C) 75 (D) 100
BT - —RA x BIS—RA V100 - x*
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AT (A) BB EEE=90—20=70 " Z I EEE=100—30=70 *
RPBIEEE=95-20=75 * RPN EEHEK
(B) EPIIBIPUDIEE=70—-30=40 > ZPIBIPTDiIEE=90—70=20 °
AU HNIEE=80—40=40 * .". ZWIHODNIEE R/
(C) & 60 DMEPIENZE 67 BUE » EOIHE 24 BMUEN
ERYHE 50 B AP IESS
(D) PR 50%EBPIFIFHIK - BGE(D)

( D )12. HEIARIBRA/JVSEBEMRERIRGENS » BISIRARRNFH » BRI/
= » f40 ABD-0950 - HEREZ A 4 » BRIGUIEZSH 0000
SBRNS - AEKE T BB ERRIRFIREZME ©
(A) 26X%25%24%(4320—1) (B) 26%25x24%4320—1
(C) 26x26x26%(5040—1) (D) 26X26X%26%(9000—1)
BT - BRRSRISA L LOOOORMMBERY 55 »
HIEAD 26x26x26 & » M&RIUIE 0~9 BIERE » (BR{IFEEHF 4 B
)38 0000 BYSEES » RIUIEVIEAS 10x10x10x9—1 1&
ETERISHISE 26x26%26x(9000—1)F& » HGE(D)

( D )13. Ra’ b REH > B a+b=10> ab=7 > a*+b’=<
(A) 700 (B) 730 (C) 760 (D) 790
B2+ a®+b’=(a’+3a’b+3ab”+b%)—3a’b—3ab’=(a+b)’—3ab(a+b)
=10°-3x7x10=790

(A )14 BB +ax—6)2x° +x-1)=6X"+bx* +cx* —2x+6 * SKa+b+c 2B °
(A)—28  (B)—26  (C)—24  (D)—22

BEAMT + (D(BX + a*x—6)(2x2 + x—*l) =6X" +bx? +cx* —2x+6

x B =ax(-) +(-6)x1=-2 > —a—6=-2 > a=-4
@(34)(2—4x—6)(2x2+i<—1):6x4+bx3+cx2—2x+6
A y

..b=3x1+(-4)x2=3-8=-5



c=3x(-D)+(-4)x1+(-6)x2=-19
@..a+b+c=-4-5-19=-28

( A )15 TIEBOHE  @EFFKRA® (HP nl=nx(-1)x---x2x1)

(A)10™  (B)50® (C) 50! (D)lsogll

BT + (A) 10 = (10%)* =100
(B) 50%° <100%° =10
(C) 50!=1x2x3x---x50 <50x50x---x 50 =50%° <100% =10'*

|
(D) % =51x52x53x---x100 <100x100x---x100 =100°° =10**°
S ERAHER 10

( B )16. K |x+1|+|x—3| =680

(A) —2<x<4 B)x=>48{x< -2
(C)—1l<x<3 D)x=>3Fx< -1
BRAT =
o e e x .t -
-1 3 3 4

MEx=3F ' x+14x—-326-2x>4---(D

Q)8 -1<x<30F 'x+1>0°x—-3<0
X+1—X+3>6—-24>6 "G Q@

R)Ex<—-10l > x+1=0°x-3<0
—X—1—X4+3=26—2-2X+4—=x<—-2----(3

BOQOEB x> 4 H x < —2 RFTK T —
= 1

( A )17.5%a ~beR BN f(x)=a(x—-1)*+bME f(4) >0~ f(5)<O0 °
BB f(0)>0~ 2 f(-1)>0 A" f(-2)>0 T f(-3)>0 ~ [X f(-4)>0
[ABLESERIE 2 IETERY <
(A) BZA (B) BT (C) BRT (D) BBAK
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f(x)=a(x-1)*+b

B - x=1 [BR6(1,b) (0,£(0))

- f(4)>0~ f(5)<0° (—=1,7(=1)) g (4, F(4))
CHBWWEG - EO f(x) =021RE N AP o) ST TN
382 0L 4 £2 5 2 _/12—1 bed 4\i(s,f(S))
(BF) O: f(0)>0

(&) O (-Lf(-)) EFE_&RE ..f(-D>0
(R) O: (2, f(2)EE_ZXRE ... f(-2)>0
(T) X: (-3, f(=3)EE=FPE ..f(-3)<0
(IX) X: (4, f(A)AEE=R .. f(-4)<0

)18. ¥HEESH x 1B ' “ AW f (x) = x> +ax+a2BIRAR-8 » BB a
HEERD

(A) —8<a<4 (B) a>4%a<-8

(C) —4<a<8 (D) a>8a<—4 ,
f(x)=x>+ax+a>-8 » {YFTBEH x 1 yox +ax+a+s
sy=x*+ax+a+8>0 » BIFTEE& x U
BlD=a*-4(a+8)<0 — a*—4a—-32<0 - o
—+(@a-8)(a+4)<0°..—-4<a<8 0

) 19. 3K157 —230x15° + 78 x15* —46x15° ~5x15° +270x15+50= 7
(A)— 200 (B)—300 (C)— 400 (D) — 500

FRI\ = f(X)=x" —230x° + 78x* — 46x° —5x% + 270x + 50 °

3K f(5) BIK f (x) BRRAx —15 Z BRIV

1+ 0—230+78—-46— 5+270+ 50 |15
+15+225—75+45—-15—-300—-450

1415— 5+ 3— 1-20— 30—400 & =400

)20. Xy~ ZEIE%%I\/;+\/y—1+\/Z—2:%(x+y+z) KX y-z="7

(A) 5 (B) 6 (C) 7 (D) 8



BRAT : x20> y21> 2225 2Jx+2/y-1+2Vz—-2=x+y+z
Xx—2x+y-2/y-1+2-2J2-2=0
(WX =2(x)+22) + ((Jy-1)2-2(Jy-D)+2) + ((Vz-2)*-2(Nz-2)+
1) =0
Wx -2 +(Jy-1-12+(z2-2-1)% =0
Jx-1=0> Jy-1-1=0>Jz-2-1=0 > J/x=1- Jy-1=1
Jz-2=1>x=1>y-1=1>7-2=1>y=2>7=3=x-y-2=1.2-3=6

( B )21. {RENNER > BEBFE 2B 1’]‘5”’*,5%% ?
(A) F£13 (B) £2%& (C) £ (D) 543
BRAT - % 2% BUHRIER » FTILURES 2

( C )22. B—ERFEE S -[NERSSIER I m—BEZ 457
PR AOR - & 20 WESFYXAEE—X @ BN RE—EF2A
e (A)25 (B) 30 (C) 36 (D) 40

AT idgisa)
45-20=25
o Kx BIK20%0 1 20220 25 » x=16
fo[ 3220 fo] 322 5%0
.20+16=36
tH4E

( B )23. WA 200 f[BERZEN=—NRHEE (—A— > BUEHENR)
EXE 6 (IEREA » BERERBAZRIE NG BEBAZRVE—R -
eRECMEEERIAEE 36 @' EMNERIIEERE
(A) 62 (B) 63 (C) 64 (D) 65
BT DRASRE xR HEAREF
> X+24X+1+Xx+3+2+1=200 | = 3145 6

> X£63§ » X lR K=63 X4+2 | x+1 | X 3

A8 Sy
=
N

&1 : (200-3—2—-1-1—2)=3= 63% B2 63E

(A )24 T EEBRSHDPE alBAZIB 18T BaBAEDB 28T
ﬁ a BAZEDIBIBIT - BalBAEZEDE &L BABBE
 RANBIBRZDETT ©



(A) a+ay+az+------ +a, (B) a;+2a,+3az+------ +na,
(C) ayxarxazx --- --- Xa, (D) (1+2+3+------ +n)xa,
BEMT * 1x%(a—a,)+2X(ap—as)+3(az—as)+4(ay—as)+ - --- +n(ay _1—an)
=a;—a,+2a,—2az+3az—3a,+4a,—4as+ --- --- +na, _1—na,
=a,+a,+az+as+------ +a,

( B )25. A~B:C DUAEOXZEIEE » tfIBIBRU FRAS ©
AEEBEB 709 C1E604% KD 2ED - (BH—FEES109)
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B O] O X|IX | X]O]O]O|X|X |70

C I X | X[ X]O|]O|X|O|X|O|X|60

D O X | X]|]O|O|X|X|O|X|X|?
(A) 50 (B) 60 13 (C) 70 (D) 80 3

BT :-ABBEBABSH TR 2 \GHEH 4B - BMANERRE 4880 2
PREY 6 BAE - 8E (BXAE) B 6 BPLVARE 6 B1ERE » BIeIE (B
Z18[E) 8 4 BB 8 [B1ERE » BIEEMRIER -

SNBREERERE 1B (O) F48 (X)) FE6@E (O)>FL9B (X) -
t CVERDP LIMIIBEEER S » BRSNS 60 JNEM/ VEMEEH S -
RIBEHER - DEHNRE 12359108 EDR 60 °

| B|EB| B | B L | B || SB|F 2
1|12 | 3| 4|5 |6 7]|8]|9]|10 o
I o = = O = = O = R = I = R =
A O I X]TOIX]|TO]O|I X[ X[ X|0O]70
Bl OO I X | X|X]O]O|]O|X]|X |70
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[B2) : 1x2%3—4=2 2%3%x4—5=19 > 4X5X6—7=113------&

1) HET? B2 -

(IR 1 BRAS 10 0 » IBIK 2 BAREARS 15 7))
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(2) b EBCRSRBREE -
(BD2fE+ - x  EBREERIEEH 10D)
BT : (1) BEMBE  Tx2—4%2=6 ' 5x8—2x10=20 * 9x4—10x2=16

(2)

9

10

BER1. (7-1)x2—2—4=6 SR 2. 742-442-1=6
(5—1)x8—10—2=20 5410—2+8—1=20
(9—1)x4—2—10=20 942-10+4—1=4

5 4 7 5 10 7
23 43 ?
3 2 4 3 2 3

OX3+4X2=23 » 7X4+5X3=43 > 10X2+7X3=41



2. RIEBH a 2HUNEEMPRB b Ha* +b>=383K :
(1) a BYEEENENMD (10 D) (2)a=? (1547)
BRAT + (1) b ZRVEERD > .0<b<1=0<b?*<1' Ha?+b*=38
".37<a*<38 > /37 <a<+/38 » .".a HIEEEEMPAR 6 °
(2) a=6+b > a*+b*=38 > (6+b)’+b* =38
36+12b+2b?=38 5 2b?+120-2=0 > b2 +6b—-1=0

D=62—4x1x(-1) =40 > b:ﬂ:%i@ » B'.°0<b<1

.b=-3+410,a=6+(-3++10)=3++/10
Z:(1)6 (2) 3++10



